2008d 2%t7] HW#6

= LR E

Hw#6 : 2-D Particle Diffusion

278533}
2003-12491

o] & A



A. Discretization

The meshes are ordered in the natural way, namely, from the upper left corner to the lower right
corner. Write a MATLAB program to discretize the 2-D problem and construct the linear system
which consists of 100 equations. For sparse storage, use the function sparse in MATLAB. Use a
sparse matrix storage scheme if you use other language.

U3 #Fo] Ak input argument= wiiAbe] =5 = glo] linear systemS WHEi= matlab ¥rE
2y gt

In Isc2d.m

function [A,bs] = Isc2d(meshsize)

%Linear System Constructor 2-D

%meshsizeZ x, y5 W] FE5 o2 HE5+= mesh /MFE L=t

a=5;b=5;

D=2.5;

aph=0.15; %<3} 3k

$=1000;

m=meshsize; %xZ mesh 7}
n=meshsize; %y= mesh 7}~

N=m*n; %% mesh 7|~

hx=a/m; %xZ% mesh 7], 4
hy=b/n; %y= mesh =7]
hx2=hx*hx;

hy2=hy*hy;

%h=0.5;

tlo
f
:O.LL
3
B
-+
M

B2=aph/D; %B"2 = Alpha/D , Buckling
stilda=s/D; %source term devided by diffusivity

A=sparse(N,N); %sparse matrix declaring
bs=zeros(1,N); %source vector b_source

for (k=1:N)
if (k>m) % AHA =, 5 y=0 < row T A 7pH BEEA] 9]Zo] o] EAf g
Ak k-m)=-1/hy2; %$1Z: A
end

if (mod(k,m)==1)
;% EwRle] fE Eo

2
else % 1FA &ZotH g 4 v



Ak k-1)=-1/hx2; %z A
end
if (mod(k,m)==0)
;% =l 22 Ao H8 4 gt

end
NhEA] obgE Alo] £t

fus

if (k<=N-m) % 9 o}gjZ 2F2l(y=h)e] opd o]
A(k k+m)=-1/hy2; %o}z)Z; A

end
% %OO]— /HE]
if (k<=m) %y=0 Q! 7% reflective for y
if (k==1)
A(k,K)=B2+1/hx2+1/hy2;  %x=0 reflective
elseif (k==m)
%x=a null flux

A(k,K)=B2+3/hx2+1/hy?2;

else
A(k,k)=B2+2/hx2+1/hy2; % 0<x<a

end
elseif (k<=(n-1)*m) % O<y<b ¢l 7<-

switch ( mod(k,m) )

case (1)
A(k,K)=B2+1/hx2+2/hy2;  %x=0 reflective

case (0)
A(k,k)=B2+3/hx2+2/hy2;  %x=a null flux

otherwise
A(k,k)=B2+2/hx2+2/hy2; % 0<x<a

end
else %y=b <1735 nullflux for y
if (k==(n-1)*m+1)
A(k,K)=B2+1/hx2+3/hy2;

elseif (k==N)
A(k,k)=B2+3/hx2+3/hy2;

%x=0 reflective
%x=a null flux

else
A(k,K)=B2+2/hx2+3/hy2; % 0<x<a

end
end

bs(k)=stilda; % filling source vector b



end
%%%%%% %% % %% % %% % %% % %% % %% % % %% % %% %% % % %%
o] = dE detiE R w4l Atol=E WropM A P} AxHd sFsis WEE 77 g
S
>> [A,b]=lsc2d(10);
>> size(A)
ans =

100 100
>> size(b)
ans =

1 100

>>
U3 #Ze] 100x100 AldH 3 Aolrl 10091 A2WE7E AE AS = 5 Udh &ukEA
block tridagonal S Ho] W=l =4 2Q1et7] 913l mesh Ale]=E o]l sparse matrixE E A
A ot o] B9l § 2 5 g

>> full(Isc2d(3))

ans =

0.7800 | -0.3600 0 | -0.3600 0 0 0 0 0
-0.3600 1.1400 | -0.3600 0 | -0.3600 0 0 0 0

0 | -0.3600 1.5000 0 0 | -0.3600 0 0 0

-0.3600 0 0 1.1400 | -0.3600 0 | -0.3600 0 0

0 | -0.3600 0 | -0.3600 1.5000 | -0.3600 0 | -0.3600 0

0 0 | -0.3600 0 | -0.3600 1.8600 0 0 | -0.3600

0 0 0 | -0.3600 0 0 1.5000 | -0.3600 0

0 0 0 0 | -0.3600 0 | -0.3600 1.8600 | -0.3600

0 0 0 0 0 | -0.3600 0 | -0.3600 2.2200




B. Reference Solution

Use you LU factor function and solver to generate the reference solution. Plot the radial particle
distribution using surf. You need to converted the solution vector to a matrix (2-D) for the plot.

el A Isc2d.me. 2 A3 systems E7] LA A5 A #Hd S lupivotmT} lusolve.mS

In file lusol2d.m
function [x,cnt] = lusol2d(A,b)
%LU factorization solver for 2D diffusion equation
%This function returns exact solution vector which can be used for ref. sol
[m,n]=size(b);
if (m<n) %b MNE S IWEHZ L]
b=b";
end

%
cnt=0;%for FLOPs count
%

[n,n]=size(A);
y=zeros(n,1);
%%%%

%%
[n,n]=size(A);

P=eye(n);
L=eye(n);
for (k=1:n-1)
ip=k;
mp=abs(A(k,k));
for (i=k+1:n)
mi=abs(A(i,k));
if (mi>mp)
ip=i;
mp=mi;
end

end%pivot 27
%row exchange



tmpVec=A(k,);
AK,)=A(ip,);
A(ip,:)=tmpVec;

tmpVec=P(k,:);

P(k,:)=P(ip,);
P(ip,:)=tmpVec;

%L update & 712 AA
for (i=k+1:n)
mik=A(i,k)/A(k,k); cnt=cnt+1;
for (j=k+1:n)
A(1,))=A(,))-mik*A(k,j); cnt=cnt+1;
end
A(i,k)=0;%pivot H-> A5 AR o] &3kl multipliers A 7d3)A]
% L FES 93 7dFAE o2 ¢ U

L(i,k)=mik; %multiplierS L2] kol F7}
end
end
U=A;

%%
%%%%
b=P*b; %PAX=Pb , = LUx=Pb =A|Z wv}¥it}

%forward substitution
y(1)=b(1);
for (i=2:n)
sumod=0.0;
for (j=1:i-1)
sumod=sumod+L(i,j)*y(j); cnt=cnt+1;
end
y(i)=(b(i)-sumod)/1; cnt=cnt+1;
end

%backward substitution
x(n)=y(n)/U(n,n); cnt=cnt+1;
for (i=n-1:-1:1)

sumod=0;



for (j=i+1:n)
sumod=sumod+U(i,j)*x(j); cnt=cnt+1;
end
x(D)=(y(i)-sumod)/U(i,i); cnt=cnt+1;
end
%%%%%% %% %% %% %% %% %% % %% %% %% %% %% %% %% %% % %% % %% %%

& lusolve 7} A 3H3} b HE]S wrolA |upivot function callS F3] LU &3S F3e3 L,
lupivot Itdoll e ofg] RE7F £3E o] JYAA T 23 call AZHE Fo]al FLOPs Al4kel 2
Q% ent MFE FFot7] fall 2T 3 Y ghael Feldith Al=E Foldl Aad AS bE
HARS S LU #3llE F3gHe substitutions 7 W Aldlste] 92 @ E x2}, FLOPs count
2 g8t} dME x = natural numberinge] ¥ domaing] &= <13t}

>>x=lusol2d(A,b);

olFA AL s plot 7] Hs vheI ol LY E gl s AT
function [phi,xx,yy] = getgraph(x)

%%%%%%%%%%%%%%%%%%

a=10;b=10; %dimension size in cm

[r,c]=size(x);

%m=10;n=10; %adjustment needed when we want change grid size!!
%%%% %% %% %% %% %5

n=sgrt(rec); %t Q18 x5 Axet y 5 AArF Zrhal 7
m=n;

Al

N

rod

xx=zeros(1,m);
yy=zeros(1,n);

phi=zeros(m,n);
for (i=1:n)

phi(;,)=x(((i-1)*n+1):(i*m)); %x = &y F°] AAF7 A= FeAE 7H
end

for (k=1:m)
xx(k)=a/m*(k-1)+a/(2*m); %x -> 0.5 1.5 25 ... 95
end
for (k=1:n)
yy(K)=b/n*(k-1)+b/(2*n);
end

surf(xx,yy,phi);
xlabel('X AXxis")



ylabel('Y Axis')

%%6%%%% %% %% %% %% %% %% %% %% % %% %% %% %% %% %% %% %Yo

sl W x& QAR wobAl phigl AH(m by e A4 AA4F A 3 eEE 1w
L phi ¢k x, y A4 (Fhd S 2=

>>phi=getgraph(x);
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C. Gauss-Seidel Iterative Solution

Write a program to implement the Gauss-Seidel method. Perform the iteration and estimate the
spectral radius of the iteration matrix by computing the ratio of pseudo error norms at each iteration
step.

)
P = - ~

Hx(k Dy 2)”
Compare this with the theoretical spectral radius which can be obtained by computing the maximum

eigenvalue of the spectral radius of the iteration matrix. Exit the iteration when the relative change of
the pseudo error becomes less than 10-6. The relative pseudo error is defined as:

-

p=
<]

i
ot

Oen 2o ey FeE Ay

t}. o] 4= T N9 subfunctionS Ztil QT

In file gsisol2d.m

function [xk,graphmat,rho_est] = gsisol2d(A,b)
%Gauss-Seidel Iteration SOLver for 2D diffusion equation
%RANUA wPAE HEHow Ao FuE, T skl

%k-th iterationol] thal < 2}, At 2 |, spectral radiusS A5t = B

[n,n]=size(A); %system &] Alo]=E F 3}
9%6%9%6%%%%%%%%%%%%%%%%%%%constants%%%%%%%
maxIter=500; %3t W31

epsilon=1.e-6;

%%%%3l W E] 7] 31%%%%%%%%%%%%%% %% % %% %% %%
xk=ones(1,n); %current solution vector xk

xk_1=ones(1,n); %previous solution vector ; x"(k-1)

% 7] 53l 4o 25 19 se= 3

%%%% S ¥l HEE 7] 31%%%%%%%%%%
errk_1=zeros(1,n);

errk=zeros(1,n);

errk_1(:)=NaN;

errk(:)=NaN;

rho_est=NaN;

%%%% —L|E 12]7]98] Fu)dk ™
graphmat=zeros(1,4);% Kk, |lerr||, relative |lerr]| , rho



for (k=1:maxlter)
errk_1=errk; % AW stepoll o] @2 MEE oA Qe Ao ZA}
for (i=1:n)
suml=0.0;
sumu=0.0;
for (j=1:i-1)
suml=suml+A(i,j)*xk(j);
end
for (j=i+1:n)
sumu=sumu+A(i,j)*xk_1(j);
end
xk(i)=(b(i)-suml-sumu)/A(i,i);
end

errk=xk-xk_1; %A 28 S x}¥E g
if(k>=2)
rho_est=norm2(errk)/norm2(errk_1); %spectral radius 5=
end
rho_tilda=norm2(errk)/norm2(xk); %2 =x}2] 3 th 3k

graphmat(k,1)=k;
graphmat(k,2)=norm2(errk);
graphmat(k,3)=rho_tilda;
graphmat(k,4)=rho_est;

if( rho_tilda< epsilon)
break;
end
xk_1=xk; %ol Al dA & 2SO

o

end
prn_info(graphmat);

%%%%%%% %% %% %% %% %% %% %%
function [graphmat] = prn_info(graphmat)
%%%%%fprintf('k , |lerror|| , rho =%8d ,%8g ,%8g \n',k,norm2(errk),rho_est);

[AX,H1,H2] = plotyy(graphmat(:,1),graphmat(:,2),graphmat(:,1),graphmat(;,4));%kztoll W= < =}HE 2]
7] plot

xlabel('k")

set(get(AX(1),"Ylabel"),'string','||lerror vector]|")

set(get(AX(2),"Ylabel"),'string','rho")
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title('’k vs error, rho')

%%%% %% % %% % %% % %% % %% % %% % %% % %% % %% %% %% %% %% %% %%
function [r] = norm2(errvec)
[m,n]=size(errvec);
n=m*n;
sum2=0.0;
for (k=1:n)
sum2=sum2+errvec(k)*errvec(k);
end
r=sqrt(sum2);
%%%% %% % %% % %% % %% % %% % %% % %% % %% % %% % %% % %% % %% %%

o]

et

gent 2ol A8 A7w

il

=
T

>> [xgsi,knes,rho]=gsisol2d(A,b);
>>format short g

>> knes
kner =
1 473.88 0.97946 NaN
2 443.38 0.47967 0.93564
3 420.86 0.31373 0.94922
4 401.9 0.23109 0.95495
5 385.2 0.18172 0.95843
6 370.1 0.14893 0.9608
7 356.22 0.1256 0.96251
290 0.015271 1.1987e-006 0.96492
291 0.014735 1.1566e-006 0.96492
292 0.014218 1.1161e-006 0.96492
293 0.01372 1.0769e-006 0.96492
294 0.013238 1.0391e-006 0.96492
295 0.012774 1.0027e-006 0.96492
296 0.012326 9.6751e-007 0.96492
>>

A WA 42 k #ola, F WA de 2 o k ol &3sk= error normolth Al WA A&
relative pseudo error ©]a1, wpX]9t v] WA d-2 spectral radius ©]tF. PEA] R A]dfo A ki 2969]
ojmje] HxE P le-6HTt A2 Aoyt dojHs & F Utk = le6 HHeAE &

7] fleiM = R o R 20639 Aldlo] aghs o 4 Utk
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#5 AAA AEo bt ge gzt 2,

500 -

ol Zo) exponential WS35t #HasteE A EZ = SAHME norm o]az, $Fd 2R 2=
= spectral radiusE 7} kol tielA A E S norme] WIES Ea|A FA4I olth o= W
B 35 k 7F S7HEe wep 5438 FAshAA] 206 A Al el A= 0.012326 ©] H =, o]+
%7122} 473.88 ©l| spectral radius 0.96492= 2963] 3 7k, =

>> 473.88*0.96492"296

ans =

oF v=alths As g1 gt

FuRE AL kb FhebE A Z716l = spectral radiuse] FE X7 2Fkd A
A A S7HIT Y thAl FAaske] 0.96492 off St AR ol o
© iteration FH T aFtEol o8 BAS= o R i 5 vk

3 Gauss-Seidel RFHEH o2 AL 3= plot 3w

>>phigsi=getgraph(xgsi);
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o

A gAY wfe- v 23E Wil des & 5 AUk

44

ol
rlo

12 o

oA G-S iterationo. 2 A
gdstr] 8 e %

&3l

2 spectral radius®} T=-inv(M)*N<2] ZH ] eigenvalue 7} 71 A X]d}=A]
& 45 A eigenvalues 3= FES matlab W FHEE A}

In file eigtgsi.m

function [g] = eigtgsi(A)

%EIGen value for T GSI method matrix

%%%%%%%%%%%theorytical spectral radius

%43kl A}=  Gauss-Seidal iteration 3 & 2]

%ifrAE A7eAdE 670 Ztal = WE oIt (matlab WF-gHE AFE)
[n,n]=size(A);

M=sparse(n,n); %M=L+D

N=sparse(n,n); %N=U

for (k=1:n)
for (j=1:k)
M(k.j)=A(k.j);
end
for (j=k+1:n)
N(kj)=A(k.j);
end
end

_13_



T=-inv(M)*N;

g=eigs(T);
%%%%%%%%%% %% %% %% %% % %% %% %%
>> g=eigtgsi(A)

g=
0.96492
0.86414
0.86414
0.76855
0.69169
0.69169
>>
A ZRE A& T dHo u/x e/lE 7] AU e el 7 2 a1FA 0.96492
7} spectral radius 2] 7%k 0.96492 ¢} U 3l= AL o 4= )

_14_



D. SOR lterative Solution

Change the Gauss-Seidel code to a SOR code which implement elementwise extrapolation. Increase the
over-relaxation parameter (w) from 1 with a step size of 0.1 until observe an increase in the
estimated spectral radius. If there is a turn-over of the estimated spectral radius, step back one step
and refine the step size by 1/10. Then try to increase w again to determine the optimum w which
gives the minimum spectral radius. Compare the number of iterations needed to achieve the same
error for the SOR and G-S cases. You can obtain the exact error of an iterate by comparing with the
reference solution. Compare the estimated optimum w with that can be determined analytically by
using Young’s formula.

ro

o =1
S 7o s ZA

In file sorsol2d.m

o},

function [opt xkwr,opt w,min_rho] = sorsol2d(A,b)
%Successive Over-Relaxation Method modifying GSI SOLver for 2D diffusion equation

NAHA T HFTA o AL Y, FHA R
% weightig factore} spectal radiusS #73F a2
%AIHA vHA WEQIA= 747t A web # A (H 4]) spectral radius

rho_e0=0; %spectral radius for current
rho_el=1; %spcctral radius for previous

w=1.0; %weighting factor
%%%% “LZ e PE

wr=zeros(1,2);

incr=0.1; %0.1% wZ Z7FA A%
for (w=1.0:incr:2)
rho_e0=gsi(w,A,b);
if (rho_e0>rho_el) % oj ™ b L-2f il loop F 5
w=w-incr;
break;
else
rho_el=rho_e0;
continue;
end
end
incr=0.01;
cnt=1,;
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min_rho=1;
opt_w=1.0;
for (w=w:incrw+0.1) %3 A woll= %A AFE gho] Holgle
[rho,xk]=gsi(w,A,b);
fprintf(w , rho = %8g , %8g \n',w,rho);
wr(cnt,1)=w;
wr(cnt,2)=rho;
cnt=cnt+1;
if( rho<min_rho )
min_rho=rho;
opt_xk=xk;
opt_w=w;
end
end
fprintf('optimum w = %g \n',opt_w);
fprintf('spectral radius = %g \n',min_rho);

%%%%%%% %% % %% % %% % %% %% %% % %% %%
function [rho_0,xk] = gsi(w,A,b)

[n,n]=size(A);

maxIter=500; %3]t W34

epsilon=1.e-5;

xk=ones(1,n); %current solution vector x"k
xk_1=ones(1,n); %previous solution vector ; x"(k-1)
% 7] 53l 42 25 19 o= 3
%%%% 2AF #HH WHE %7]31%%%%%%%%%%
errk_1=zeros(1,n);

errk=zeros(1,n);

errk_1(:)=NaN;

errk(:)=NaN;

rho_0=0;
rho_1=1;

for (k=1:maxlter)
errk_1=errk; %™ AW stepoll A 2] 02} ME S o d QW E] Aol HAL
for (i=1:n)
suml=0.0;
sumu=0.0;
for (j=1:i-1)
suml=suml+A(i,j)*xk(j);

_16_



end
for (j=i+1:n)
sumu=sumu+A(i,j)*xk_1(j);
end
xk(i)=w*(b(i)-suml-sumu)/A(i,i)+(1-w)*xk_1(i);
end

errk=xk-xk_1; %M 2 < x9g F 3
if(k>=2)
rho_0=norm2(errk)/norm2(errk_1); %spectral radius 5=
end
%  rho_tilda=norm2(errk)/norm2(xk); %<2 x}2] “goi gk

if( abs(rho_0 - rho_1)<epsilon) % spectral radius”} <=5 3}'H iteration &=
break;

end

xk_1=xk; %ol 7o) AR v s

rho_1=rho_0; %47 spectral radiusell & spectral radiusE tll

jin

end

%%%% %% %% %% %% %% %% %% %% %% %% %% %% %% %% %% %% %% %% %% %% %% %
function [r] = norm2(errvec)
[m,n]=size(errvec);
n=m*n;
sum2=0.0;
for (k=1:n)
sum2=sum2+errvec(k)*errvec(k);
end
r=sqrt(sumz2);
%%%% %% %% %% %% %% %% %% %% %% %% %% %% %% %% %% %% %% %%

A HA A= HE My ola, 7 HA HEEQIx}= 0.017H9 2 weighting factore} spectral
radiusE A7k sjHo|t},
>> [xsor,wr,wo,ro] = sorsol2d(A,b);

w , rho = 1.6 , 0.843026
w , rho = 1.61 , 0.836162
w , rho = 1.62 , 0.828273
W, rho = 1.63 , 0.819309
w , rho = 1.64 , 0.808875
w , rho = 1.65 , 0.796677
w , rho = 1.66 , 0.781728
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w , rho = 1.67 , 0.761951

w, rho = 1.68 , 0.730064
w , rho = 1.69 , 0.852872
w , rho = 1.7 , 141067

optimum w = 1.68
spectral radius = 0.730064
>>

ol9} o] AdPslH 2 weighting factor= 1.68°]3 o|w| 2] spectral radiusts ¢F 0.739 = &

o]
PR

o] A iteration 3|5+E wlwsl7] Y& v o] S £=A

In file wgsiter.m

rot

=

function [emiter,iterem,xk] = wgsiter(w,A,b,xref)

%A HA wrE QIR o = s @ xfell ik iteration S5
%SFHA sl zbo = Sl iteration 3ol thdk Q@ A}
%rhA = ghEQl Ao = e HE 7} Sol gt
[n,n]=size(A);

maxlter=500; %3]t Wk315=

epsilon=1.e-6;

xk=ones(1,n); %current solution vector x"k
xk_1=ones(1,n); %previou solution vector x"k-1

% 7] 53l 4o 25 19 ez 3

%%%% 22t #HH WHE %7]31%%%%%%%%%%
errk_1=zeros(1,n);

errk=zeros(1,n);

errk_1(:)=NaN;

errk(:)=NaN;
rho_0=0;
rho_1=1;
k=1m=1;1=1;

eseq=[2 ,1 , 0.5, 0.2, 0.1, 0.05, 0.01]; %U<l 2=} sequence, T =}
[len_r,len_c]=size(eseq);

n_eseg=len_r*len_c;

erriter=zeros(1,2);

itererr=zeros(1,2);

for (k=1:maxlter)

errk_1=errk; %% # ¥ stepoll 2] 2} ME & o d Q¥ A Fgof HA}
for (i=1:n)
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suml=0.0;

sumu=0.0;
for (j=1:i-1)
suml=suml+A(i,j)*xk(j);
end
for (j=i+1:n)
sumu=sumu+A(i,j)*xk_1(j);
end
xk(i)=w*(b(i)-suml-sumu)/A(i,i)+(1-w)*xk_1(i);
end

errk=xk-xref; %A 22 Q. X9E g % x ref o gk g&sk
% if(k>=2)
% rho_0=norm2(errk)/norm2(errk_1); %spectral radius <=
% end

rho_tilda=norm2(errk)/norm2(xk); %2 =}2] o3k exact relative error

if(mod(k,10)==0)
itererr(l,1)=k;
itererr(l,2)=rho_tilda;
I=1+1;

end

if( rho_tilda< epsilon)
break;
end

if( abs(rho_tilda-eseq(m))<eseq(m)/10) %2 x}o] Zfoijgke] 33
& A iteration count #] A3}

erriter(m,1)=rho_tilda;
erriter(m,2)=k;
m=m-+1,

end

if(m>n_eseq)
break;

end
xk_1=xk; %ol A Aol dA Y= 3ES Y
% rho_1=rho_0; %] spectral radiusell & spectral radiusE ol
end

A

_19_
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function [r] = norm2(errvec)
[m,n]=size(errvec);
n=m*n;
sum2=0.0;
for (k=1:n)
sum2=sum2+errvec(k)*errvec(k);
end
r=sqrt(sum2);
%%%%%% %% %% %% %% %% %% % %% %% %% %% %% %% %% %% % %% % %% %%
o] s4%= 4709 input parameterE weighting factor, A, b, exact solution vector 2] A2 W=
o] 714 2] ¢ 2= exact solution vector 9}9] A= A& FHoZA o]R 9 AYLAE HHE <o
2 AR Adeagksd st o] W 3SE Attt vhlE 10991 9] iteration wlT}
aAE AstH, WHEH ] loopis A2 2H7) epsilon=1.e-6 #E.TF FolAH FEH T
o] gE ol&aty] fallA tedt F2 =wdaE A
function [] = cmpgsisor(w)
% CoMPare GSI and SOR of W
[A,b]=Isc2d(10);
xref=lusol2d(A,b);
[elterd,iterE1,x1]=wgsiter(1,A b,xref);% X% GS HFEH
[elter2,iterE2,x2]=wgsiter(w,A,b,xref);% w weigting SOR

[r1,cl]=size(iterEl);
[r2,c2]=size(iterE2);

fprintf(GSI\nY);
for (k=1:r1)
fprintf(‘iteration , error = %g , %g \n',iterE1(k,1),iterE1(Kk,2));

end
[r2,c2]=size(iterE2);

fprintf('SOR\n');
for (k=1:r2)
fprintf(‘iteration , error

%g , %g \n'iterE2(k,1),iterE2(K,2));
end

plot(elterd(;,1),elterl(;,2),'b*-"elter2(:,1),elter2(:,2),'bo-");
xlabel('|lerror||/|Ix(K)[|")

ylabel('lterations’)

legend(‘Gauss-Seidel','SOR',2);

%%%% %% %% %% %% %% %% %% %% %% %% %% %% %% %% %% %%
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o] A matlab command

>> cmpgsisor(1.68);

GSl
iteration
iteration
iteration
iteration
iteration
iteration
iteration
iteration
iteration
iteration
iteration
iteration
SOR
iteration
iteration
iteration
iteration
iteration
>>

error
error
error
error
error
error
error
error
error
error
error
error

error
error
error
error
error

ions

10
20
30
40
50
60
70
80
90
100
110
120

10
20
30
40
50

windowsll 4] Th&-7} o]

2.37756
0.997392
0.543195
0.328319
0.209562
0.138105
0.0928449
0.0632278
0.0434285
, 0.0300019
, 0.020808
, 0.0144707

0.216989
0.00994633
0.000428797
1.8548e-005
7.92511e-007

140 ~

120

100 -

80 -

o

sh
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>> wgsiter(1,A,b,x)

ans =

2.1282 11
1.0702 19
0.54319 30
0.21881 49
0.10862 66
0.054361 84
0.010837 128

>> wgsiter(1.68,A,b,x)

ans =
1.8703
0.92869
0.51805
0.21699 10
>>

G-S WL 3037} Zasd A

a8 wE k7t AR o2 SORS AMESiA Aol optimum wrh

e Aolrh YA 9l 8 w
>> rho_gs=0.96492

rho_gs =

0.96492

>> w_opt=2*(1-sqrt(1-rho_gs))/rho_gs

w_opt =

1.6845

ARA o Fohd wo1687 WIS % 4
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E. Effect of Mesh Size

Investigate the effect of the mesh size on the convergence of the iteration scheme and also on the
memory and computation requirement for the direct method. To begin with use the mesh size of lcm.
Now you may not be able to obtain the maximum eigenvalue of the iteration matrix from MATLAB.
Further reduce the mesh size and see what happens to the estimated spectral radius of the
Gauss-Seidel iteration scheme.

W4 Abelzg SANA 2w R4 WekE 1ol AEA e e deE Fa
function [grph] = vmsgsi(sizebound)

%Varing Mesh Size for GSI

grph=zeros(1,3);

i=1;
for (m=5:sizebound)

[A,b]=Isc2d(m);
[xk,knes,rho]=gsisol2d(A,b);
[r,c]=size(knes);
grph(i,1)=m;
grph(i,2)=knes(r,1); %iteration 315~
grph(i,3)=knes(r,4); %spectral radius
i=i+1;

end

[AX,H1,H2] = plotyy(grph(:,1),grph(:,2),9rph(:,1),grph(;,3));%k kol w2 @ xp#E] o] =17] plot
xlabel('mesh’)

set(get(AX(1),"Ylabel’),'string','iterations’)

set(get(AX(2),"Ylabel"),'string','spectral radius’)

title('mesh size vs error, rho’)

rot

=

boundE 15714 FH FFH| WA= oAl Agto] AE7|=
>> vmsgsi(15)

ans =
5 77 0.85257
6 110 0.89878
7 149 0.92648
8 193 0.94429
9 242 0.95637
10 296 0.96492
11 354 0.9712
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12 417 0.97594

13 484 0.9796
14 500 0.98249
15 500 0.9848

>>

600 -

400 -

ons

I

mesh sizes S7HA7A 7 ddts el e @7 918 Z g iteration 7t FUhekE A
1T mesh sizeS 1302 S w] 484 W] wiEo
mesh sized wjo &= 600l 7}7h-g whEo] F Qs How A7ty
3, mesh size7} S 7}3tol wel spectral radius’= Z7}shE A
radius7t A3 1] ZAMAHA FHA] YA = s G &

et mesh sizes S0l FU AAT £E SAS g1 & F = ARl Stk

>> [A,b]=Isc2d(5);[xk,knes,rho]=gsisol2d(A,b);getgraph(xKk);

O

2 o g 5

>

f

A
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3000

2000 .

>> [A,b]=Isc2d(12);[xk,knes,rho]=gsisol2d(A,b);getgraph(xk);
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SOR W& AM&31A m=202 v 9] distributions H.Th WA A& 4= 9tk
>> m=20;[A,b]=Isc2d(m);[x]=wsor(1.68,A,b);getgraph(x);

XIS

2000

1000
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2733 el Al mesh sizeol] thghk computation 315E HaB| 7] $13 theS glEtH
>> for (m=5:10) [A,b]=Isc2d(m);[x,flops]=lusol2d(A,b);cnt(m-4)=Fflops;end
>> m=5:10

m =
5 6 7 8 9 10

>> cnt

cnt =

5849 16871 41649 91519 183761 343399

>> plot(m,cnt,'k*-")

>>

x 10
3.5

2.5

2f

mesh size 102 w| FLOPS 343399+
>> N=1072;N*(N-1)*(2*N-1)/6+N*(N-1)/2*3
ans =

343200

_27_



>>

of Ao R gh=d], o] Gauss A<l updating 314 + multiplier A]AF81<5=+ forwad, back
substitution 81& Tlgh grolth. & IAPAOE N3O F7hetal, 9o EiEe 3z thEkA o
2 fittinge] € Zo& difo] Ht}

o}

o

°

kA Jusol2d.m 2] wEA]E} lineol]
715 F+& & gt
nonzr=nnz(U)+nnz(L)+nnz(P) %5 o EolE AUZEE X941 H2 E3o| 3

S5 718k LU operation A]oll 2 2.3 nonzero entry A7

>> [A,b]=Isc2d(10);nnz(A)
ans =

460
>> [xk,cnt]=lusol2d(A,b);
nonzr =

2118
>>
sparse matrixs AF-83}0] memoryE oFZItial sl EtE Gauss AAAY TASHE fill-in wZo] 2
23 N1gFAaTF m3e s e,

>> m=5;[A,b]=lsc2d(m);nnz(A)
[xk,cnt]=lusol2d(A,b);2*m"3
ans =

105
nonzr =

283
ans =

250
>> m=6;[A,b]=lsc2d(m);nnz(A)
[xk,cnt]=lusol2d(A,b);2*m"3
ans =

156
nonzr =

478
ans =

432
>> m=7;[A,b]=Isc2d(m);nnz(A)
[xk,cnt]=lusol2d(A,b);2*m"3
ans =

217
nonzr =
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747
ans =

686
>> m=8;[A,b]=Isc2d(m);nnz(A)
[xk,cnt]=lusol2d(A,b);2*m"3

ans =
288
nonzr =
1102
ans =
1024
>>

utabd 28 M o] operationoll 4 &TEE 7)o g A

[e] 2=
45 o Uk
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lusol2d.m
getgraph.m
gsisol2d.m
eigtgsi.m
sorsol2d.m
wgsiter.m
cmpgsisor.m
vmsgsi.m
wsor.m
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